


To find 5 of the 6 balloons,
split them into 3 equal groups.

There are 2 balloons in each group,

with finding
can practise
groups.

6-7 Yzars_aﬂl.s (Year 2)

6-7 Years English (Year 2)




77—8 Years English (Year 3)

7-8 Years Maths (Year 3)

Nicole has 26 litres




There were once two brothers. One was a very wealthy
soldier, but the other was just a poor, humble gardener.
One spring, the gardener sowed some turnip seeds

the plants grew, one turnip just kept getting bigger
and bigger. It grew and grew until it was enormous —
it must have been the biggest turnip in the world.

The gardener decided to give the turnip to

was delighted. “What a valuable thing!” he

big turnip. You must be an extremely luc

“I'm not really very
very poor — it's my

qift of his own — a chest of silver and
the king would give him something

The king was delighted with the
decided to give him the most valu
the turnip. So the poor soldier
the way home with him in a cc

Adapted from o story by the Brothers Geimm.
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[0-11 Years English. (Year 6)

| VARIOUS ANSWERS POSSIBLE |

msplllmmahn

into smaller sections
to make a text

D look more formal

BT The freworks at 10 see the s
wm Mwwm m 75 v ad
a huge success last the beautiful Potatoes Azgmmm ;
night. Crowds of fireworks light up | Carrots minutes

every evening

to judo class ot 6:30 pm. On Tuesday,
mmmmmwuwwmasm 1 will have my guitar
lesson at 4 pm on Wednesday. Football training (s on Thursday at 5:30 pm.
A:?pnmﬁuq.lmmwawungm&mm‘

Judo cless 630 pm
Tuesday Tea at Nan's. S pm
d Guitar lesson 4 pm
Football training 5:30 pm._
Sleepover Tpm

For extra practice, ask your child to write
out their extra-curricular activities (or
the days and times of their favourite TV
programmes) out in a table.

10-1l Years

4. 68 can be partitioned into:
4 + 00 + 006 + 0008
or

3 6 8
4+ 30 * i *t
ones tenths hundredths thousandths

Maths (Year 6)

[ Fus, doide by 1010 find 10 53 11 of 6060+ 10 ¢
—~ o> 0% of b0 =3 x (=18
E o 102 R 54 o 0= 44223

21% of 300 = 2

104 = 300 » 10 « 30
20% = 30 x 2= 60
Me0e10-3
2% =403

65% of 80 = ?
10%=80+10=8
0% =8 x b =48
5%=B8+2=4

'
1
I
1
1
1
: 65% = 48 + & =

10%=20+10=2  40%=2x4=8
$%=2+2a1 45%=8+1-[9 |

Your child might use some slightly different
methods to those shown, e.g. they might
divide by 5 to find 20%. As long as they
get the correct answer that's completely fine.
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